1/861E BETEOGHU

NOTE: No claim will be approved for payment unless original copy of this order or the Purchase Order Number is made a part of the claim.

Purchase Order LaPorte County LaPorte Indiana

P.O. 35503

			_	LaPo	rte, Indiana		st be shown on invoice delivery memos.
TO	Friedman	& Associates	, P.C.		vendor n3202	DATE /24/14	
-	ess705	Lincolnway				REO.	
CITY_	La Porte	, IN 46350				- In Accordance with	
SHIP T	0				DEPARTMEN	NT Dated	
SHIP V	IA			DELIVERY		If subject to case on I	sh discount, please indicate nvoice or Claim
				TER	MS		
Charge to	Appropriation for_	KIP developme	nt issues		Appropriation ?	Number 001 . 20200	.000.
Q	QUANTITY	UNIT		DESCR	RIPTION	UNIT PRICE	E AMOUNT
			INVOICE	블			
		For s		-			
		Erom	February 16	, 2014 th	ru March 15, 2014.		
a den							
			Please se	e attache	d invoice for more detai	ls.	\$6, 157.50
12				/	1		
	-	AAR 2 8 2014	H	A BIA	1	. /.	
		Festure Vinsky 1	11/11/	1/1/1/	Value	MA	
	LAPO	HTE COUNTY AUDITOR	IVVY	0			
		THE SOUN IT AUDITOR					
					Ť		
		ompliance with CHA tory thereof and supp		945	APPROPRIATION BALANCE		6,157.50
_		*		WIT			
I here	by certify that	there is an unobligate	d balance in this	111/	Billing on this order n	nust be according to j	2
appro	priation surficie	Helund	Juski	Miller	ORDERED BY	Trans of El	come Dan
	- (Auditor		+	E CARLE	Egy Fren	Title /
					AD 9 7 2014	ar - f	
	FEDI	ERAL EXCISE TAX	EXEMPT	.IVI	AR 2 7 2014		
				LADO	Jenne Durke		
				WALC	HTE COUNTY AUDITOR		
		ANA RETAIL TAX ificate No. 0031186			BOARD OF COMMISSI	IONERS OF THE COUN	TY OF LAPORTE
						Purchasing Agent	

City

Account #

Vendor # Claim & Docket #_

P.O. #

Name.

Street

Warrant No.

In the sum of \$

Allowed

Invoice #'s

03/17/2014

Invoice Submitted To:

LaPorte County Board of Commissioners

For services provided by Friedman & Associates, P.C.

from February 16, 2013 thru March 15, 2014

Kingsbury Industrial Park development issues	Hours	Rate	Amount
02/16/2014 Review Mikes email re: schedule; follow-up with M. Reardon; draft follow-up to Feldbaum and Faccenda re: new equity partner; review Reardon response; review P. Faccenda response and review Port Authority materials for 2/18 meeting.	0.85	\$150.00	\$127.50
02/19/2014 Review J. Mikes update on Port of Tampa deliberations and draft reply.	0.75	\$150.00	\$112.50
02/20/2014 Travel to Tampa.	7.50	\$150.00	\$1,125
02/21/2014 Meetings with Green Express investors including new Real Estate Development firm assuming interest; meeting with Mark Morton, President of America's Gateway Logistics Park; meeting with Tampa Port official including Chief Operation Officer Raul Alfonso and CFO Mike Macaluso; tour Tampa Port properties including site of intended twin trans loading facility for KIP and final session with Green Express Reps. re: Halfwassen investigation.	8.25	\$150.00	\$1,237.5
02/22/2014 Return from Tampa.	7.50	\$150.00	\$1,125
02/23/2014 Review Mikes emails re: Tampa Port, pending channels xxxx litigation and potential impact on Green Express; draft reply; email Halfwassen Attorney E. Sullivan re: port visit; draft update for Faccenda and Feldbaum; review T. Condor email; draft reply; do update for Commissioners; send email to Green Express reps. and phone call with Green Express Attorney Joe Mikes.	0.80	\$ 150.00	\$120.00
02/24/2014 Review J. Mikes follow-up re: Charleston Port; multiple emails with J. Mikes re: announcement re: Tampa Port; draft reply; phone call with IBEW business representative			

Jaye Fuller re: project labor agreements; send confirmation email to Mikes re: need for PCA's; review A. Feldbaum email; draft response re: new equity partner for Green Express; review Building Commissioner inquiry; draft reply; email follow-up to Feldbaum and Faccenda re: New partner of Green Express; phone call with A. Feldbaum and Phil Faccenda re: negotiation with Tampa Port; review T. Condor follow-up and review provision request for March 1 report.

1.65 \$150.00 \$247.50

02/25/2014 Review J. Mikes email re: Alliance Shippers; review J. Mikes email re: Inland Logistics Port in Coal City; phone call with J. Mikes re: Halfwassen negotiations; email Attorney Ed Sullivan; review Sullivan response; draft reply; draft follow-up to Ed Sullivan; review Feldbaum follow-up re: county collateral; draft reply re: Halfwassen and Mikes purchase agreement and review McGrath letter re: BTS citrus operation at KIP.

1.15 \$150.00 \$172.50

02/28/2014 Review M. Reardon email re: Kingsbury Utility Corp. and IURC findings; review Mikes email re: impasse with Halfwassen; draft reply; multiple emails with Halfwassen Attorney re: proposed mediation; multiple emails with P. Faccenda and A. Feldbaum and review ILPK dispute resolution mechanism.

1.50 \$150.00 \$225.00

03/03/2014 Compose email to joint venture partners re: Green Express; review Attorney Sullivan response; review J. Mikes email re: possible impasse/prospective mediation; review Sullivan follow-up on deal points of separation agreement for ILPK; phone call with R. Beall representing Kingsbury Water Utility re: KIP electric infrastructure and phone call with D. Brown office in Hobart.

1.25 \$150.00 \$187.50

03/05/2014 Review Chris McGrath email re: Kingsbury Utility Corp; review Minich follow-up; review Gintner email and draft reply.

0.35 \$150.00 \$52.50

03/06/2014 Review B. Halfwassen email re: substitute collateral; review A. Feldbaum February email on substitute collateral; draft follow-up to Halfwassen and draft email to Feldbaum.

0.50 \$150.00 \$75.00

03/11/2014 Research substitute collateral issue; review Feldbaum analysis; draft letter to Halfwassen; send to Barnes and Thornburg and M. Reardon and review Halfwassen reply.

1.40 \$150.00 \$210.00

03/12/2014 Travel to and from Indianapolis for meeting with Co-counsel Beau Bodeax and Deanna Dean-Webster re: petition for electric infrastructure upgrade in 44371 and format strategy re: economic development order by IURC.

7.60 \$150.00 \$1,140

Total Billable Hours: Total Billable Amount:

41.05

\$6,157.50